Chapter 6 REVIEW NAME

1) Multiple Choice What is simplified form of ~ 2)  Multiple Choice  Which of the following is
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3) Multiple Choice  What is a solution of the 6) Multiple Choice  What is a solution of the

equation 4 cosx + 2 = 07 equation sin x = /3 cos x?
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7) Multiple Choice  What is a solution of the  8) Multiple Choice What is a solution of the

equation 6 sin x — 6 = 0? equation Stanx — 5 = 07
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9). Multiple Choice What is the exact value of
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11) Multiple Choice 1If sinu = L] with
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Find the exact value of the trig function.
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12) Multiple Choice 1f cos u = %with
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Verify the following identies.

1 secx+1 tan x
16) —— +tan X =Sec xXcsc x 17) =
tan x tan x secx—-1
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20)  tan® x+tan? x =sec* X —sec? x



Solve each equation on the interval [0, 2nr).

21) sin(x +£j —sin(x —Zj =3
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23) 2csc? x =3cot’—1

Find the general solutions.

25)  cos’x—sinx=1

22) cos(x+3—ﬂj —cos(x —3—ﬂj =0
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24)  csC®Xx—2cscX =2—4sinx

26) 2tan’x—-1=5



